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JIV—T% Z1=! EPE | EAE | IRAE EENDEF X SEBNBT
FRRX 7H5H 1 1 100| I ERER HHR FHESAER—)L
FRRX 7H8H 1 1 13|2&-8F HHR fRT9—ER
FRRX 7H29H 5 5 500|852 T17 HHR ANEBRERR 25—
FRRX 7H29H 5 5 100| I ERER HHR J=ZRGMHE
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JIV—T% Z1=! EPEE | A | IRAE EEDEF X SEBNBT
JEX 4H48 3 9 90| KIEE it TAY-EZXYI5 EH
JEX 4H48 2 4 50 KIEE it FTAY-EX9)5 A
JEX 4H48 4 8 35[KIEE it Z0AB ZAEX
JEX 4H48 2 4 8| KIEE it TAY—EAHRBHEEHL
JEX 4H48 3 9 90| KIEE it TAY-EZXYI5 EH
JEX 4H48 2 4 50 KIEE it FTAY-EX9)5 A
JEX 4H48 4 8 35[KIEE it Z0AB ZAEX
JEX 4H48 2 4 8| KIEE it TAY—EAHRBHEEHL
JEX 5H20H 3 9 90| KIEZE it TA9-EX895 EH
JEX 5H20H 3 9 90| KIEZE it TA9-EX895 EH
JEX 5H21H 2 4 50 KIEE it TAY-ERG)5 A
JEX 5H21H 2 4 50 KIEE it TAY-ERG)5 A
JEX 5H22H 4 8 35[KIEE it BI5HRE
JEX 5H22H 4 8 35[KIEE it BI5HRE
JEX 5H23H 1 2 20[KIEE it TAY—ERHRBHEEH
JEX 5H23H 1 2 20[KIEE it TAY—ERHRBHEEH
JEX 6H28H 3 6 30[KIEE it BI5HRE
JEX 6H28H 3 6 30| R1IEZ it BI5RTE
JEX 6H29H 2 4 50| R1IEZ it TA9-ER8)5 FAE
JEX 6H29H 2 4 50| R1IEZ it TA9-ER8)5 FAE
JEX 6H30H 3 12 90| XI1EZ it TA9-EX895 EH
JEX 6H30H 3 12 90| XI1EZ it TA9-EX895 EH




JEX 7H8H 4 4 0|FBXIE (REZEMNIF>T17) it BI/INFER
JEX 7H208 4 4 20(F8=E (REEART>T(7) it BI/INFER
JEX 7H218 14 14 140[ B TFREFOZIE it JFERFENFER
JEX 7H218 14 14 140|E TFRESTHZIE it JFERFENFER
EX 7H24H 4 10 80(KIEZE it FMHY-EXBY5 RH
EX 7H24H 4 10 80(KIEZE it FAHY-EXBY5 RH
EX 7H25H 2 4 50| K1EZE it FTAHY-EXBI5 ZAE
EX 7H25H 2 4 50| KIEZE it FTAY-EXBI5 ZAE
JEX 7H26H8 3 6 25| KIE= it BOSHRTE
JEX 7H26H8 3 6 25| KIE= it BOSHRTE
JEX 7H278 1 2 20| KIEZ it FATAEFTRER
JEX 7H278 1 2 20| KIEZ it FATAEFTRER
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HIL—-T% Z1=! SEEIEE | A | IRAE SEENDEF X SEENGPT
ZAREX 7H218 1 1 0|FBE (REZENIT>T17) A RIBINFERR
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F;KX 7H7H 1 1 S5|E=—#% F;K Faf/ VAR
HKX 7H178 2 2 10|E=—% ;K BB TR
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II—-T4& AH SEENEE | A | WRAE SEENDEY X SEENGPT
7EX 5A12H 4 4 13|FEIE iz} ARBINFR
7EX 684H 1 1 250 BB EFRITEXIE [iz] REINFER
7EX 6H118 1 1 420 | BENREFRITE IR [iz] FHEEINFER
7EX 6H18H 2 2 14| ¥ 878 [iz] FHRD /R
7EX 68208 8 8 29(FB8ziE [iz] HENFER
i) 68228 1 1 O|E=—H% [iz] HESHFR
i) 68248 4 4 0|F8x<iE (REERT>T17) [iz] HESHFR
riz] = 6H27H 1 1 0|FBXIE (REERF>T17) [i] WD HEE
7aX 7H4H 1 1 4|FBZIE [iz] BIRINER
7aX 7H6H 7 7 56|¥8ziE [iz] BEINFER




i) =S 7H6H 3 3 45|FBXHE [iz] HIRF/NFAR
i) =S 7H78 1 1 O[FBxE (MEENF>T47) [iz] WADENHEE]
i) =S 7H78 1 1 0[FBxE (MEENF>T17) [iz] WHMDSHHEE
i) =S 7H78 11 11 187|F&X%iE [iz] FNNEINFR
i) =S 7H8H 4 4 20| FEXZIE [iz] EEZO/NFR
i) =S 7H8H 8 8 96| FE % [iz] HIRE/NFAL
i) =S 7H118 8 8 B|F &R [iz] RE/NFR

i) =S 7H118 7 7 7|FB<IE [iz] BANE/NFER
i) =S 7H118 5 5 26| FEIE [iz] RINFER

i) =S 7H118 7 7 23| FEXIE [iz] EEZO/IFR
[z =S 7H13H 15 15 120(F&8xi% ] HHA/N\FER
[iz] =8 7H148 24 24 192|FE X% [iz] HHO/NFR
[iz] =8 7H148 8 8 120|FE X% [iz] HIRF/NFAL
[iz] =8 7H148 13 13 34| FEXZIE [iz] ANE/NFER
[iz] =8 7H148 12 12 84| FEZIE [iz] B ENFR
[iz] =8 7H158 6 6 17|F B8R [iz] FBENFR
[iz] =8 7H158 5 5 40(FBIE [iz] HIRDE/NFRL
[iz] =8 7H158 11 11 165|F &% [iz] HEINER

[iz] =8 7H19H 3 3 0[FB8x%E (MEENS2T17) [iz] HEBHFR

[iz] =8 7H19H 12 12 108|F&E 2% [iz] MOB/NFR
[iz] =8 7H19H 6 6 23| FEXIE [iz] FHaNFR
[iz] =8 7H19H 4 4 56| FE %% [iz] HIRENFAL
[iz] =8 7H20H 3 3 30|F8<E (MEERF>T(47) [iz] FHERE PR
[iz] =8 7H208 14 14 126|F&EZi% [iz] MOB/NFR
[iz] =8 7H208 14 14 56| FEXIE [iz] ERHEI/NERR

[iz] =8 7H218 1 1 200 EESEFFRAITEIE [iz] RE/NFR

[iz] =S 7H21H8 200 EENEEFEFRATE IR [iz] E/NFR

[iz] =S 7H29H 16 16 480 | FE IR (HHAERE) [iz] OB/NFR




